1:2,50041 2K FL_\ -% FF-' i"ij, ﬁ? [—1 5

PP EES

ST\ S\ U

o le] Q o] o
8 8 & & B 1—14[1-15
-163.5 -163.5
J—14[J—15
T X B
N O ZEW
\..
A L
i 5
A25.6 = B &
(1] saew
B25.62 k # &
] 2asmm | o256 FPUNELL:
B ves.e REFER
o) BEmES m25.62 RREEF
- 25.6 BEEELED
il BAOIEES 25 5 B #ME
[ (SR -
L OBTA%A
i axmzEEas
e E A E g
JAN # ¥ P o B P9
& B B L 2 i
< m B 2 il B o8 B/
G) B OoFE B 2 i %
X ANREEZ 2 B # 5
® = x5 E * T 5 3
-164.0 — —1164.0 Y " OB E NV~ # O
@ BERTM Q TOTH (3R
O gj"" i%ﬁo ﬁ%‘z Z ES T (SHEEHD
" wm i oo e 423
t F 53 o e B &
+ *1) 2 e e) 4 v 7
X Z ) i & ES
@ LRl - (REE jog= =] %
® AEE - NREE I g B #
® ® & M o3 ) &
P bl Bt @ 1T iz
s iR T @ Ik L 8 78| FR
®@ W@ A m il O
@ -} E S KO - {50
X OK E K o BR- UK
L I 5 R " E 5
> & B W PB B
= bk 71 A ol
) HyY)yvrevr | ~ (A
® B H R &
—— N — ¥ B %
B BEH # %Ok B E
———————— & £ & S &
ToITIoE B O TT T T T mghoks
—————— 0rho B! 1L .
;E&qﬂ pLaniz —— i &
— — &l HEEE =N P
S5 e
j] (— EBotviw
=3J] t=#ot v x»
i B e
__,|_|,_& i5 —{IIl— SREDEERVH
I % E = BEO&KE
oo gusaE | ———RPLE]
= if x R B OR
D I —— E & %
AT H @
[ e W & R
+ ® % ————#% # R’
— e R i BR ___E‘ﬁﬁﬁég)lg;ﬁ
———— e UBEORTR — — —xF-0 (D R
-164.5 —17164.5 e B BSHIOER — - B R
" o
N sum | © VB
<] QL
A o ZD{thd ih | e
o *m o m*tm Ill l JIL tm
M 2| |ueme
N wir | | E| e
N 74,,,7;31 N o é;-] " R ~ | Lot
¥ (ST SIS TR
JIEB e R T 8 s
x| o|mow w DR
0
| Bt ok h
@k
R %
RS
g
7kb“"ﬂ?§
%3700 - VSIS
EERETH14GEENLRBLAEREOS
DHREICLKDIFEMEER
I_'F.l EZREEALA FLEK
-165.0 -165.0 HHBIERRLTHIERMBEFOA— FILELE
o o o ARIF os5FOA—FILER
5 5 2 BEOREFIHERENOFYRBE
) ’ EEROBBIE2A—FL
FTEHEAESMEE. BRABRIZLD
W E BM6 £ 38 (R ¥ WMME £ 10 A) COANEREREREELHBERREOBEES T COMNERER. Bt HEREOARRUNEEET
BiEl ¥R 18 F 3 A E o R EIR 1:2,500 /BELOTHD, (MEBES)FEOHMAE15 15 ARFEONEERY WERREHEALTBLLOTH S, I—15
EomfEE 2m 0 100 200 300 400 500m (ZAREBS)FE17 P2E3 5 45




